o o o ooooo o 0000000 oOoooooooo O0OOO0o0ooo

[ o o o

0000000 OO0OOO0ooooo

MIYOSHI Rotary Grips

Oddodgn Wooooo

205741
o o e[
= Gj\ 0000000000000
E | 0000000SUM22

Al 04

Il 0000o00000O0n
% 1 00000000SWPB

ID.

P
1 } I_L—E ~ NO00MO O 0 C3604B
U'v

e SEROUUDOINOD0IOOOmMmgonogonogogg

L L
02+
Fo

000000mmd

£a L M Z D L ¢1 | 22 | ¢3 ] 24 [ d d1 h_ [o0g0
SER- 6 | 1,480 M 6x P10
SER 8 | 50 M expids 12| 18 81 | 19 | 57 | 815| 16 | 12 | 285 | 70
SER-10 | 1570 |Mi0x P15 | 13 | 22 | 103 23 | 75 | 1040 | 20 | 14 | 300 | 120
SER-12 | 2600 |Mi2x P1.75 15 | 28 | 123
SER-16 | 2.600 |Mi6x P2.0 | 14 | 28 | 137 | ' 22 | 93 11240 23 | 19 | 340 | 200

Is

e[ 0 00000000000000000MOOSUM22000000 e 0 0 0000000000000 00 MO0SUM22100 0000
s NRUDODOOOOgoogQd m RGUOUOOOOO

00000 m0 O0000m0
Lo OO0 el d L1 [11] Mxp £d U0 go [ d L | Mx P

NR- 6 540 16 | 10 53 | 13 7 M 6x 1.0 RG-28 600 14 11 28 10 | M 6x 1.0

NR- 8 620 20 | 13 66 | 15 8 |M 8x 1.25|| RG-40 680 18 15 40 13 |M 6x 1.0

NR-10 750 25 | 16 85| 18 | 10 |[M10x 1.5 RG-50 730 21 17 50 13 |M 6x 1.0

NR-12 950 32 | 20 | 107 | 20 | 13 |M12x 1.75|| RG-65 880 23 19 65 15 | M 8x 1.25

RG-80 925 26 21 80 17 | M10x 15

%; M - I "

eJJ000O0OODOOODOOOODOOOOOSUM22/SUS o0 00000000 ODODOODODO MOOSUM22000000

mEROOCJOOO00OOON mEO0D0O0000000
o0 00000 m0 0000 0wl
£a 00 [pomsusd d [ LI [11] MxP £d U0 /BT d L 1 [12] Mxp
ER- 6 310 880 | 16|65 13| 8 M 6x 1.0 || E-20 370 | 20 | 13 | 65| 16 | 57.5|M 8x 1.25
ER- 8 310 880 | 16 |65 13| 8 |M 8x 1.25|| E-25 425 | 25 | 16 | 81| 18 | 70 |M10x 15
ER-10 420 | 1,100 | 20 | 84 | 14 | 10 [M10x 15 || E-32 780 | 32 | 22 | 103 | 20 | 88 |Mi2x 1.75

ER-12 420 1,100 | 20184 |14 |10 |M12x 1.75 E-36 1400 | 31 | 25 114 | 22 100 |M16x% 2.0

W ===

e 0000000000 DODOODOOOOODODOSUM22/SUS e DO OO0OO0O0O0DOOO0OO0O0DOOOODDOSUM22/SUS

4
]

B RG-NOOOOUOO m FROODOOO00000
- 0O 0000 OmO - 0o 0000 OmO
OO0 [omsusioo[d L [1] MxP OO0 [pomsusioo[d [ L[ 1] MxP

RG-40-N 720 | 2,500 |18 |15 [40[13[M 6x 1.0 FR-5 295 560 |12 | 8[36| 9 |M 5x0.8
RG-50-N 780 | 2,590 | 2117 |50 [13 [M 6x 1.0 FR-6 295 560 |18 |13 [ 65|12 M 6x 1.0
RG-65-N 950 | 3,050 [ 2319|6515 |M 8x 1.25|| FR-8 370 630 | 24| 15|80 | 13 [M 8x 1.25
RG-80-NB | 1060 | — |26[21[80]15|M 8x 1.25|[ FR-10 415 840 |27 [ 199518 [M10x 1.5
RG-80-N | 1,060 | 3,050 | 26|21 80|17 [M10x 15 FR-12 560 | 1,150 | 33|24 |105] 20 |M12x 1.75
RG-90-N | 1,100 | 3230 |28[22[90[17 [M10x 1.5 FR-16 840 | 1,680 | 36 | 25 [110[ 22 [M16x 2.0

w
00 Gy s



